- (6) -
32. The following table gives daily income of 50 workers
of a factory :

Daily income Number of workers
(in%)

100 - 120 12

120 - 140 14

140 - 160 08

160 - 180 06

180 - 200 10

Find the mean, mode and median of the above data. 6

~——————~
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1.

The exponent of 3 in the canonical decomposition

of 17640 is : 1
(A) 1 (B) 2
© 3 (D) 4

If x=a andy = b is the solution of the pair of linear
equations x - 2 =y and x - 4 = -y, then the values of

a and b are respectively: 1
(A) 3and 1 (B) 1and 3
(C) -3and -1 (D) -1and -3

If ax? + bx + ¢ = 0 has equal roots, then c is equal to: 1

b b
(A) 2 (B) 2

b2 b2
C) —— D) —

4a 4a Contd/-



10.

11.

- (2) -
The slant height of a right circular cone is 10 m and
its height is 8 m. Then, the area of its curved
surface is :
(A) 30 7m?
(C) 50 7 m?

(B) 40 7 m?
(D) 60 7 m?

Two dice are thrown simultaneously. What is the
probability of getting two numbers whose product is
even ?

3
A ® 5

wolw N

5
© ©) 1¢

If [x—2| =3, write the values of x.

Find the constant remainder when 2x?-x+ 3 is
divided by x + 1.

The n™ term of a sequence is 2 - 5n. Is the sequence
an AP ?

If « and g are the roots of the quadratic equation
ax’> + bx+ b =0, whatis af equal to ?

Write the statement of Thale’s Theorem.

. T T
What is the value of sin? €+coszg ?

Contd/-

28.

29.

30.

31.

- (5) -
Draw a triangle ABC in which AB =7 cm, BC =6 cm
and AC =5 cm. Then construct a triangle similar to
the triangle ABC with its sides equal to % of the
corresponding sides of the triangle ABC. Write the
steps of construction.

The angles of depression of the top and the bottom
of a 7m tall tree from the top of atower are 45°
and 60° respectively. Find the height of the tower.

A canvas-tent is in the form of a cylinder of diameter
16 m and height 5 m surmounted by a cone of equal
base and height 6 m. Find the capacity of the tent
and the cost of the canvas at Rs 150 per square
metre [use r = 3.14].

Or,

From a cone of height 18 cm, a smaller cone is cut
off by a plane parallel to the base. If the volumes of
the cones are in the ratio 1: 27, find the height of
the resulting frustum.

If the corresponding sides of two triangles are in the
same ratio, then prove that the two triangles are
similar.

Or,
State and prove SAS Similarity Theorem.

3+2=

5

5
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22.

23.

24.

25.

26.

27.

- (4) -

In two concentric circles, prove that a chord of the
larger circle which is a tangent to the smaller circle

is bisected at the point of contact. 3

Find the value of
sin?1° + sin?3° + sin?5% + ........ + sin?87° + sin?89°. 3

A metallic sphere of radius 6 cm is melted and
recast to form a cylinder of radius 3 cm. Find the
curved surace area of the cylinder. 3

If ais divisible by neither 2 nor 3, show thata®- 1 is

divisible by 24. 4
Or,

Find the least multiple of 11 which when divided by

6, 7 and 10 leaves the same remainder 4 in each

case.

A train covered a certain distance at a uniform
speed. If the train would have been 10 Km/hr faster,
it would have taken 2 hours less than the scheduled
time. And, if the train were slower by 10 Km/hr, it
would have taken 3 hours more than scheduled
time. Find the distance cover by the train. 4

Determine the ratio in which the point P(10, m)
divides the join of A(5, 2) and B(17, 14). Also, find

the value of m. 4
Contd/-

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

- (3) -
Find the curved surface area of a cylinder of radius
3 cm and height 7 cm.

When are events of a random experiment said to be
mutually exclusive ?

Using Factor Theorem, determine whether gq(x) = x+ 1
is a factor of p(x) = 2x® + x* - 2x - 1.

Solve the following pair of linear equations by
cross-multiplication method.

ax+by=a-b

bx -ay=a+b

Find the 15" term from the last term (towards the
first term) of the AP : 3,7, 11, ......... , 123.

sin 28°53’ ~ cos61°7’
cos61°7’  sin 28°53

Find the value of

Three unbiased coins tossed. Find the probability of
getting at most two heads.

Factorise : b?c?(b? - ¢?) + c?a?(c? - a) + a%b?(a? - b?).

Show that any number of the form 6", neN can
never end with the digit O(zero).

Solve graphically :
2x+y =6
X -2y=8

Contd/-



_(6)_
sexy osAe SimErpe fyslErpegc Wg mdSg ? SImlErp

[aKi fyslErpeiGe adeSygxy ajAKgE wg\ 1+2=3

mE aair gymE Koj sjA fyjjAag ?
[WEq zjG [(Teq olGeSyg eyiFyjlE [axg aagi T\
sSj(¢ Bjagrxg [Kide Kig agoy viBT oTq SISggx! ?

o )

2
1
1
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_lolvl [Kg ‘s’ ‘K’ ‘m” ‘@’ oTe siimN ajg Fide STri
_lol Srgixg ad \IGFlg awEr wgjg = eKixg o
KgcgEere wWiBSA wy\
siinN ‘s’
(wig)
1. aSixg _Ijli sfld [Kg wijx olmyg _lolKgixg wBSA wg'
aghhy _lopr sjg oT -“vIdKgEmx vId-\A KT, Wrl
KT “vii eTe virgi fiqg oTg [Kg [SIT ag[iTgxg miFdy
WFNeg, eGfipgry [_Ig [elg [Kge fiTgl ag[(Te wiEqr e
oTq [r Wg fT = wvii eTe virgi fig [Kg ['vAgey oTq
fligEqgxy ogjA fyrid Srgiadf Bg Wimg — fligEg [Kgr
wiG [af aig mfl =~ aSid mTjg mjiie amA FAf sIE
fiTxAgK1 arade [ad [eq opjiz [Ere wipFgo
mfliZy — sljyoEgxg \idmq aKlde wiG fjIE Karpxg m
[Te vgiSGmy — aegM [rade [eyq mTc [Ere amlA FAf
Sypiimg cgq, wWAqQKgixg [ g sldoEmg = [KAe fiTgiwiE
[aig oTg wIiG mfl =~ [Kg \ye FicM opjg [aKi v
TKDjade aoyKizg mjgd eGfpx TKgr ajod [afl \je
aiokre \Ae mdwxy afy BGmy = ajA [Kge [JlAqr
eGTipx Wridw oTq [Kyg aojKixg oyeqq siTq eg\Aeg

(s) fligkg [Kgor sjxAq wiG [af aiq mpfl oTgx [Tq
SrA [eg wg\ ~



_(2)_
(K) vit eTe wvirgi fyirg age sjg Wg fT ?
m  fiTgl KIAQ awxg [wAq sjgel ?

(@) “vIdKgemx wvId\A KT, Wridmx Wyl KT” olTgKge

SloEmygKy sjgel ?

(w) aFdsy gl afld [Kirxy sjAq _lope “Fridw’ oiTq

_lopx [JF aEegxl ?

zijGsy ewgKgie aTs) s\ajAr ewKgirxy fiq mfipgK

avew] widw ojBerpgxy ajAKgli wg\

sljler wyjAqg akKmA [ae wWEKgr TExrg simE [ey T\ &

N

qpfiKe aegwj old mKgESggx mwidKgr sjg sj3g [Fiiq

FAag ?
KTEK fldelmicgx ag[(Tqr see olee aj mT ?
Balxg WIGFId oEFoEmdwxgy ajA [a wg\ ~

Sloyre Fidw SriiFiq oTgKg aSM s\ Fide STridw \igxI?

[(dfigy Fir [IzjIKG slerpig sjoxgel ?
adfy \R crXj myGSGSggxy WErA sjgel ?

siimw ‘K’
(Ta)

e e e =

aSixg ogjAKgr [Kgrxg [afl SMmx _loyrld [aKi _[JITK¢E

\BoEre _iop 150-160 jlAxg aeir _{jli ([IKI) [a T\ *
(s) FdKg SKg [aKi aopjlT
(K) qoxDee ag[lTqr wgjgg siEeq [aKi [aiq

\l
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25.

26.

27.

28.

29.

30.
31.

32.

_(5)_
eGTix
(K) “ma slExg av: Kimg ageld
[aKi _lopxg cirr aiSP ag
wiirgxy [KIEgxy Kjir
mGSPl ewiKd [(Tyre wijF
ajlE FldSgripl aRKIrE” —
“Irxg SEc” ofTq Kpjlir sqge axy SEcKgiq s
eiKygxl ?

33 N

“mGvxey elxg wipfiari
‘elxg wipfia’ oTgKg sexy wipfgael ?

ag[Taxy Kz®fie aliWA [T oTjyq sjyoxgel ?

\BWA [arg ajg aSli fdfe KErlde fdB

(s) “KiTrpzZpr WgzA [a KlAojeg oiTgeg o\li ZKI

VIgErixg wilAa elK K wAKg oqgrl fire
oTcoyjog”

eGTix

(K) “sqidm ziq SIf fijdT ~ Kij awy [a Kie oEFjr

“rry elia mdvjxI” oTjAmx Slimp Fe Fljdml
“sexy aEfjg” oTq _Ijg aviKgr [Tge wwgegimgq wiBcl
sjel ?
smlEFr agKpnEe axg ajAr vGfipg sjoxgel ?
age sjg oTSyxrxl oTgKgxy [sigx mTwidsAg ag[TgK
[(Ee-freq _(SMMEKgir sjg sjel ?

Kiolge miT vEmg afAr zjGsy KzBf [aKi KIKspfyr
sjg [olig mdwxl ?



- (4) -
asSxg _lop wjli [Ky siTFide wB fAgr [IEFAB ~
viBge oiTSy, “[p ar Sinl” ~

Zjin mdmAag oTg [Z1 [r [pxg Tviey
_lop wyli [Ky [VAg _lop wjlir [IEFIB ™

aSIT vGFd-vGKge HfT

mT wvgimyq _lopKgl [Kg sjg Wplcel ?

ele WAT oTg mTjod [r [pe wjdmgey

_lop wjli [Kygrxg eBE six SEridB

ag\AKgxg aeir jgfie \Ae wiT

_lop wjliKg Kwjlfyiz rgxipr [EFldmx [ad TFdB ™
wiKir qiTr \INoygeg

mT vgimyg ‘qiTr’ oTgKg sjg sIKF magx| ?

[1SITrxg sjg wiG myjl =

mT wgimg lop [Ky eAqj [Emx _op wiliKy [ad TFdB

“BGF Xg opg” oTqKge SIoEmggKg sjgel ?
“Tjicq” oTgKg FyxMmE Sleq _lopr sjg oTxeq ?

siimN ‘a’

(Kiogf®)
\BWA [ary ajg aSli fdfe KEfide fdB

(s) “Ixg rigryg
sjeK ogixrgey
alg aegi TAoEm
alg aegi TAoEm
alg aeyi fAoEm” ~

Contd/-

11.

12.

13.

14.

- (3) -

(s) eold Kgicapr mg [\IdwA qlTvieg oTe SMm ™
almgiar mq elxg ajN KwA jlagr fir agFT  agc
[[Teqg eo [(TjeZirxy sjg sjg fixrxl ofTq
WEre _lop 130 JjlAxg viir vgFg [a T\ &

eGTix

(K) eold “aljegi oTKBMxg” siBK (X) xg sSiK sl
clEeg oTe SMm ~ mdmyq [dfiqy FKgr aop TAgx
mee alTgiir mA \ligxg FiJA [a wiiFdwg\
eSITxg olr aKfjr rjSK [a T\ = (op 130 xg
TXrqey)

aSxg wBjpKgr [Kogxg aeirxy [a SMmx aeixg zq Ki

fidfe T\ ~

(s) FygErlE wvilig siTeq \pgp
(K) TKgi FErg viWe aSIE FIAT ™

(s) Kid 2015 KINFlAqj Fixg fit 5 r eoldsy eakEeq
mTee wvGageejgq wisged [rr eode Flie
[arg WBjdw _ISMr _iop 120 jOAxg wviir T\ °

eGTix

(K) 0ySyg Fir KIKBE [ae aegwjr cleljlE TKBd sySy
ealGfr elxg qaqxg [eq [r ojjdSy
aodw olKwgfEr weq olGeqr FlieSyg [ _lgKgin
120 jlAXg wvir T\ ©

siimN ‘m’

(xpaj)

asSixg _lopwjliKgr \Bjoq zjgKg sjg [IKwildf magx!
flAg ZKg wi [eg mTjod wijAT &
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SECTION—-D
(ECONOMICS) 13 MARKS

Answer question no. 29 to 31 in a sentence each:

29. What are banks?

30. Give one reason why income is used as an indicator of
development.

31. Why is secondary sector called manufacturing sector?

Answer question no. 32 in a about 30 words:
32. State two reasons which are reasonable for increasing
importance of tertiary sector in India.

Answer question no. 33 in about 50 words each:
33. What are the provisions of the Consumer Protection Act
19867

Answer question no. 34 in about 100 words each:
34. Discuss the various indicators of development.

*kkk
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Section — A
(Geography) 27 marks

Answer question no. 1to 2 in a sentence each:

1.
2.

Why do we need to use minerals wisely and carefully? 1
Why is the Eastern Coastal Plain of India considered as
the most disaster affected region in the world? 1

Answer question no. 3to 5in about 30 words each:

3.
4.

Give the two unigueness of cotton crop of Manipur. 2
Suggest two steps to reduce hindrances created by the
different gauges of Indian railways. 2
Suggest two steps taken by the government to solve the
problems of jute industry. 2
Draw a full page outline map of India and mark and label
therein the following : 1+1=2

Areas of Green Revolution

Answer question no. 7 to 10 in about 50 words each:

7.
8.

State any three factors for the depletion of forests. 3

Why are human being themselves an essential components

of resources? Give three reasons. 3

Why is iron and steel industry called the basic or key

industry? 3
Contd/-
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10. Give three reasons why mineral are an indispensable part
of our lives.

Answer question no. 11 in about 120 words each:
11. Explain why India agriculture needs technological reforms
since independence.
Or,
Explain the impact of globalisation of India agriculture by
giving five points.

SECTION-B
(HISTORY) 27 MARKS

Answer question no. 12 to 15 in about 50 words each:

12. “The non-violent heroism of salt satyagrahis was
demonstrated at Dharnasana salt works”. Justify the
statement by giving three points.

13. How did the process of mass production in England
began immediately before the end of the World War-1?

14. Write any three objectives of the Bretton woods conference.

15. Why was the Battle of Shangshak so importantin the
Manipur front during the second world war ? Give three
reasons.?

16. On the map India drawn as answer to question No. 6

(Geography portion), locate the places with name, where :-  1+1=2

(&) Mahatma Gandhi broke the salt law
(b) The 1920 (September) session of the Indian National
Congress was held.
17. What was the Acta-Diurna?’
18. Write two contribution of Henry Cort in the development
of Iron and Steel Industry in England.

Contd/-

- (3) -
19. Name the two governor — Generals who were mild and
liberal towards the Indian press.

Answer question no. 20to 21 in one sentence each:

20. What is nationalism?

21. Why did Gandhiji condemn the tax on salt as the most in
human poll tax?

22. How did ltalian unification achieve in 1871 in the 19*
century.

SECTION-C
(POLITICAL SCIENCE) 13 MARKS

Answer question no. 23 to 25 in about 50 words each

23. “Caste system has not disappeared from India” Justify the
statement by citing one point.

24. What are the ideal for a federal system?

25. “Democracies are based on political equality.” Give
example to prove the statement.

Answer question no. 26 in about 30 words
26. Mention two different ways of influencing the decisions in
a democracy.

Answer question no. 27 in about 50 words
27. Analyse the subjects that democracy shows a mixed record.

Answer question no. 28 in about 100 words
28. What are the federal provisions and institutions working in
Indian federalism?

5
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